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state | input
qo | ababa
a1 baba
7l aba
1. (a) 0 a
q1 a
q1 $
Accept
No more input and ¢; is a final state, therefore we accept.
state | input
qo | babab
42 abab
Q2 bab
) T ab
q2 b
q2 $
Reject

No more input and ¢, is not a final state, therefore we reject.

2. M2 = ({QO, 42, 43,44, 45, gs, Q7}7 {07 1}7 527 qo, {q3a 44, 46, 97})

state | 0 | 1
0] q2 | G5
q2 q3
by = g3 g4
g4 ds
qs de
ds a7
qr7 de




state | input
qo | 010101 || state | input
¢ | 10101 Qo 1011001
qgs | 0101 a5 011001
qs | 101 6 11001
qs | 01 q7 1001
g |1 Stuck | 1001
g | 9§ Reject

Accept

3. M2 = ({qh q2, 43, Q4}v {a’ bv C}v 5a q1, {q4})
State | a | b | ¢

q1 92 | q1 | 1
0= q2 q2 1 43 | 1
q3 g2 | 41 | 44
g4 44 | 44 | 44

State | Input
T acbabcca || State | Input
G2 cbabcca Q1 acbabb
Q1 babcca g2 | cbabb
1 abcca 1 babb
g2 bcca G2 abb
q3 cca g2 bb
qa | ca g3 | b
44 a 0 $
g |3 Reject
Accept
4. M3 = ({C]O, q1, g2, Q3}v {Oa 1}’ 637 do, {QO> qi1, 42, QS})
State | 0 | 1
qo0 q1 | g3
03 = q1 q2 | 43
a2 a3
a3 41| 43
State | Input
qo 101001 || State | Input
g3 | 01001 qo 10001
¢ 1001 qs 0001
qs | 001 Q1 001
¢ |01 ¢ |01
Q2 1 Stuck | 01
s |3 Reject
Accept




D. M4 - ({Qm qd1,92, 43, Q4}, {Oa 1}7 547 qo, {Q4})

State | 0 | 1
q0 q1 | ¢1
0y = q1 q2 | 42
q2 q3
q3 44
te | 1
State | Input State | Input
Qo 1011
a1 100
a1 011
q2 00
0 q2 11
33 3 Stuck | 11
4 .
Accept Reject




